Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

TF x
: “—
$ 2
. [ O =
T T o
b .
. +

Pull of x for merged vertices

JO 15 20 =20 -15 -10 —5 0 5 10 1b 20 50 =15 =10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)
ugm TT__CKF_ORIG

—— DOM_TT _CKFLowPtT ORIG
M TT _CKFLowPtT_MODIF

2

. > %]
i — r o} I
: =] r: : ) L
. S 1.8t g 1.8
: a R > C N I 1 I | I
: : : L : : : : A o L : : : : : :
1 R O B (AR AR SIS S B | AN Rl B AL | | EE
I S I O R A .
g LAk o b  Lafte i
: : [ : : : : : : : o L
| R IR 1.2F 2 12F 1
o N
A S 1 B
Fieeeedens 0.8F | S R
------------- 0.6 0.6

[E EEEEE
1.z T

1.1

Ratio
Ratio

o 0.9
io 520 5515 tio —'5 5 E 15" 1520 0B =15=10 50 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

[y
T T

Pull of z

Jany

Pull of z for merged vertices

1.z

1.9

Ratio
Ratio

[y
AL L L L

i

0.9
L T 5 10 15 20 10 15 20 5510 5 0B 1015 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

-




	Contents
	Page 1


